A force of 4 Ib. is required to stretch a spring 1 /2 ft. beyond its natural length. How much
work is required to stretch the spring from its natural length to 2 ft.

A. 8 ft-lbs. B. 12 ft-Ibs. @ 16 ft—1bs. D. 24 ft-1bs. E. 32 ft-1bs.
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A cylindrical tank of height 4 feet and radius 1 foot is filled with water. How much work
is required to pump all but 1 foot of water out of the tank. (Density = 62.5 lbs. /1t63)

. 9
A. 97(62.5) ft-Ibs.  B. 3m(62.5) fit-lbs. —%(62.5) ft-lbs.  D. 187(62.5) ft-1bs.
E. 67(62.5) ft-lbs. |
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2
/m(ln r)3dr = %—(Ina:)g' — I, where I =

A / (Inz)'dz B. % / (inz)’d C. / (nz)?de D. / s*(no)da{ E) ; / 2(Inz)2dz
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In order to compute / e
J (1 + 22)°2

integral in # whose value is

we make the substitution z = tanf. This gives an

A. 10+ 1lsinfcosf+C B.In(sec’d)+C C. l9+tan10+C D.3Vcosf+C
E.)sinf + C
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E. V9 — 422 + tan™! (%) + C
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A partial fraction decomposition of ———_—— has the form
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Indicate convergence or divergence for each of the following improper integrals:

dz dx

(1) /

1)2

0 ) &=
G

A. T converges, IT and III diverge.
converge, 11 diverges.

(I11) /

B. II converges, I and III diverge.
D. I and II converge, III diverges.

El—zal.'z:

C. T and III
E. I, II and III diverge.
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